10890 Sl - I i (ME8) B{mm
1 | t&n F12 12
3630 , 3630 , 3630 7 | BEiAs F12 23
! ! 3 | A F12 16
65 7X500=3500 130 7X500=3500 130 7X500=3500 65 L Thore F17 TRY
v 5 | mrEAESE F12 16
6 | mED F12 12416
1 | pormiss F12 3.2
8 | tag Y10 16
9 |t Y10 16
HEZES Y10 1.0
HEEE F12 20432
= 12 | goi F12 2.0+3.2
= ERETET Y10 1.0
& 1L | FRAN- F12 23
= HEEES Y10 0.7
) 16 | SRR F12 16
= 17 | 8B® F12 12
18 | BIR/SHIV Y10 0.5
19 | g@EBET R Bl%- [KUTFL VD4 -4 4O
LA 20 | BRIV F12 0.7
E— e 21 | BRESE Y10 0.7
AN 22 | emiais Y10 0.7
23 | 0-r-%8 F12 23
2L | Trw -5y k) 708 0.6
25 | Yrw s AN— F12 0.7
= 26 [ 2ruso—L— P ALEBBIM
2 F12-BRBn® - @R IS G 3302)
il Y10~ BB -5% 7 V-0 AAch- X@R IS G 3317)
S 708> 2 EBRBND - XK UIS G 3312)
<
O
A Lk
I
AYEOE’E O AYEOES’EO AYEDOESEO =
100 48 33472 48 48 33472 L8 L8 3342 L8 100
192 192
10898
| 11050 ‘ 6555 ‘
80 10890 80 = 140 6275 ‘ 140
“J\ 1000 o
i ] ﬂMh“Ezzzzzz§§§z§§§£%£§§§§§§§§§§§§3
CL:) [Wg]
o~ ~
ol
n 8 £ [Eg} é
o Y S AL
O m o~
IE
= —— — e
| vz
VG.L o
O

AR

HIES

<HER> S=1/60

~—HRE~

GRN—3662HL—3

OFA%hEIO~t:%:3342

% 2118(mm) O

PR #&:68.33m(20.711F)

o 25 G 28 BL1E PR




